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# REACTIONS OF BEAM ON 4 ELASTIC SUPPORTS (3 CROSS BEAMS)
TYPE 10,
10 FORMAT(S8H REACTIONS OF BEAM ON 4 ELASTIC SUPPORTS (3 CROSS BEAMS)/)
99 READ 1,HSPAN,GSPAN HJ ,QJ,TJ E G
TYPE 1
11 rJRPA;(é?H N Z(N) ZT(N) CP(1,1) CPC1,2) CP(1,3) CP(1 Y CP(2,1) “P(Q,Z) CP{
2,3) CPC2,4))
DIME“?IDN 2(3),27(3),CP(2,4),0P(2,4) ,BM(2,4)  EM{2,4) ,BUNT(3) ,BUNZ(3)
Z0=(HSPAN/ 2, ﬂ/uSPAN)OS*QJ/HJ
ZTO=(HSPAN/8.,0/GSPAN) x(E/GIx(QJ/TJ)
Z(1)=149722x79
Z(2)=0.1250270
ZL3)=0.0277 %70
ZTC) =1, 707 1%2TD
ZT(2)=0.5%2TO
2T(3)=062929%270
DO 90 I=1.3

BUNI(I )= !6 DxZ{T0xZTLI)12+40.0%ZT (10124164021 %ZT (1) +10.02ZT{(I)+2.0%2(1) 045
BUN2(I)=8,0%Z(1)12x2T{I1)+1200x2(I)wZT (10124444057 (1) 4ZT(1)+2.0%2(1 )0 2+38,0%2T
(I)1242.0%2(10+7,0277(1)40,25

90 CONTINUE
DO 20 I=1,3
BP1=~4.0%3 (1) 2T (1) 12-4.0%Z (1 )aZT(1)=04542(1)
BP2o~40xZ (1)1 2x2T(I)=520xZ ¢TI %ZT (1)1 2=04.0x2 (1) 42T CI1)~1,0xZ (1427252 1)
BP3=18.0%Z (1 o%ZT (1)1 2+ 7202 1 I4ZT (1) +0425%2 (1)
BPG=—4 A% Z (1)t 282 C1I=54 002 (1) 2TCI12-1840%Z{I1)82T(I)=1.082C1) 120, 7547 (1)
CP(1,1)=RBP1/3iN1(1)+BP2/BUN2(1)
11¢1)+BP3/3UN2(1)
L1 (1 )-BP3/BUNZ(T)
CP(1,4)=BP1/3Un1 (I )~BP2/BUN2(I)
CP(2) 1)=~BP1/BU1(1)-BP3/8UN2(1)
CPC2)2)=BP1/BIN1 (1 )+BP4/BUN2(1)
CP(2)3)=BP1/5UN1(1)~BP4/BUN2(I)
CP(2)4)=~BP1/BUN1 (1)=BP3/BUN2(I)
TYPE 12,1,2(1),2T¢1),CP
29 CONTINUE

TYPE 101,
TYPE 13
13 FURMAL(%OH N Z(N) ZTIN) DPC1,1) DPC1,2) DP(1,3) DP(1,4) DP(2,1) DP(2,2) DP(

2,3) DP(2,4))
Do 30 "= 1,3 ’
DP1=—2.0%Z2(I1)*ZT(1)~F.25x7(1)
DP2==3.0%Z(IJ12%ZT(I)~20xZ(L)*2T(1)-0.5%xZ(1)12~2(1)/8.0
DP3=—140%Z (1)1 222TCI)+3.0xZ(1)«ZTCI)+2(1)/8.0
DP4=~1e0%xZ (1) x2TCI)~0,25272(1)
DPSz==3. 02 (101 2%ZTCI)~0u5xZ (1) 2T(1)~140%2(1)12-2(1)/8.0
DPS==1+0xZ (1)1 2#Z2T(I1 )~ 14522 (1) xZ2T{I1)~0.5%xZ(1312-2(1)/8.0
DP(1,1)=(DP1/BUNI(I)+DP2/BUN2(I))*QSPAN
DP(! 2) ¢~DP1/BUN1(I)+DP3/BUN2(1) )xQSPAN
DP(1 3) (-DP1/BUN1(I)-DP3/BUN2(I))*QSPAN
DP(1 4) {DP1/BUNL(I)-DP2/BUN2(I) )xQSPAN
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DPC2,1)=(DP4/BUN1 (I )+DP5/BUN2(I ) )*QSPAN
DP(2,2)=(=DP4/BUN1(I)+DPS/BUN2(I))»QSPAN
DP(2,3)=(~DP4/BUN1 (I )=DPS/BUN2(I) Jx&SPAN
DP¢ 24 )=(DP4/BUN1(I)~DP5/BUN2(I ) J»QSPAN
TYPE'12,1,2(1),2T(1),DP

30 conTINuE

TYPE 101,
TYPE 14

14 FORMAT (BOH N Z(N) ZT(N) BM(1,1) BM(1,2) BM(1,3) BM(1,4) BM(2,1) BM(2,2) BM(

2,3) BM(2,4))
DO 40°1=1,3
BM1——24.042T¢1)12-3,0%2T(I) ,
BMZo—36 082 (1 2T (12426 0% Z (I )xZT(I =24 +0%ZT (I )12~1.542TC1)
BM3=—12.0%2T (I )12=3.C4ZT¢D)
BMam—36 s0xZ (12 4ZTC1 21 2-12.0xZ (1) %ZTCI)~6 +0ZTCI)12~1,5%2ZT (1)
BMS——12,0%7¢ 1) #ZT €101 2+36 0w ZTC 1) 1 2+ 1.5%2T(1)
BMS—~12.047 (1) #2T(1)12-6+0xZ (1) xZT(I1)=18.0%ZTC(1)12~1.5%2TC1)
BM(1, 1)=CBNM1/BUNICT J+EM2/BUN2(1) )/ QSPAN
BM(102)=(BM3/BUN1(1)+BM4/BUN2(T ) ,/QSPAN
BM( 1 ,3 Y={—BM3/PBUNL{I }+BM4/BUN2(I})/QSPAN
BM(1)4)=(~BM1/BUN1(1)+BM2/BUN2(T ) )/QSPAN
BM(2)1)=(~BNM1/BUNT(1)+3M5/BUN2(1) )/GSPAN
BM(2,2)= (~PNM3/BUNT (1 J+BHS/BUNZCL ) )/ GSPAN
BM(2)3)=(BM3/BUNL (T )J+BIMS /BUN2(T) )/ GSPAN
BM (24 )=(BM1/BUN1(1)+BM5/BUNR(I) )/ QSPAN
TYPE'12,1,2(1),2T(1) BN

40 conTInuE

TYPE 101,
TYPE 15

15 FORMAT (80K N Z(ND) ZT(N) EM(1,1) EM(1,2) EM(1,3) EM(1,4) EM(2,1) EM(2,2) BM(

2,3) EM(2,4))

DO 50 I=1,3 -
DM1m—8,0#3 (1 )aZT(1012-2.0%Z (1 )*ZTCI)=20,0%2T(1)12-2.0%2T(I)
DM2==240#Z (1)1 222T(I) =60, 0xZ(I)ZT(I1)12-5.04ZCI)ZT (1)~ 18.0xZT (121 2-1.0%2T(I
DM3=2¢O#Z (12T (13- 1.0%2T(C1)
DM4z=2, 0% Z(I) 1 22T (1)=4,0%Z(I)4ZT (1)-0.5ZT(L)
DM5=-8 0% Z (1) *ZTCI1) 1 2-6+0xZ (1) *ZT (1)~20.042T(1)1273.0x2T(1)
DM6=—2+027 (1)1 24 2T (I)=60 eOxZ (1 )% 2T (1)1 2-17.0%Z(I 2T 1)~ 18,04ZTC(T) 12~ 24 542T(I)
EM(1,1)=DM1/BUN1(1)+DM2/BUN2(I)
EM(1,2)=DM3/BUN1(1)+DMA/BUN(I)
EM(1,30=—DM3/BUNI(I )+DM4/BUN2(1)
EM(1,4)=—DM1/BUN1 (I )+DM2/BUN2(I)
EM(2,1)=DM3/BUN1(1)+DM4/BUN2(I)
EM(2,2)=DM5/BUN1(I)+DMS/BUN2(I)
EM(2,3)=-DM5/BUN1(1)+DM6/BUN2(I)
EM{2,4)==DM3/BUN1(1 ) +DM4/BUNZ(TT
TYPE 12,1,2(1),ZTC1) EM

50 CONTINUE

12 FORMAT (13 ,F7.1,F6.1,8F8.3)
TYPE 102,
PAUSE
6o TO 99

101 FORMAT(/)

102 FORMAT(////7)
STGP
END(2,2,2)

(Fex 212 7294 )
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REACTIONS OF BEAM ON 4 ELASTIC SUPPORTS (3 CROSS BEAMS)

Z(N) ZT(N) CP(1,1) CR(1,2) CP(1,3) CP(1,4) CP(2,1) CP(2,2) CP(2,3) CP(2 o)
21947 204 -00682 00270 00226 0.186 0-270 '0.740 0s244 0-226
1369 Q7 <0523 0.299 0+158 06966 0e299 —0,694 0237 00158
3el Oel —00373 0.292 04085 —0.004 00292 =0e614 0¢238 0,085

ZCN) ZT(ND DP(1,1) DP(1,2) DP(1,3) DP(L,4) DP(2,1) DP(2,2) DP(2,3) DP(2,4)
21947 2ol =1e3586 ~0e260 06597 16228 ~1.573 =0.439 04616 16396
13+9 Qe7 14170 Oel151 0o 491 Qo528 —1.164 04217 0586 0795
31 Dol —0.793 Qe327 Qo318 0151 =0e738 —=0e068 0e 463 0e343

Z(NY ZT(N) BM(1,1) Bd(! 23 BM(1,3) BM(1,4) BM(2,1) BM(2,2) BM(2,3) BM(2,4)
2197 2elt -010 0010 —0-009 ~(e 008 ~0s032  =0e003 ~0.004 =0.004
13.9 Oe7  —Gs035 =0s035 =0.024 —0.016 06005 —0.007 ~0.018 —0.015
3e1 Qs =0Gs063 =02059 0027 =DaN12 0,026 —0,005 ~0.037 =—0.025

ZONDY ZTIN) EM(1,1) EH(1,2) Ei(1,3) KH(1,4) ©H(2,1) EM(2,2) EM(2,3) EM(2,4)
21947 2o/t =0e645 0,227 e 156 0ei26 0227 ~0.721 Qelo2 0-‘“‘
13.9 Ne7 —0.536 Qaly 0025 =DedD Gelll 0,792 24081 04025
31 Oelt  —Qe5U5 UeDSQ  —0e}32 ~(e029 Te1s) -3 7u9 0003 =Geu32

(707 74 2]

100

99

19

20

INFLUENCELINES OF BEAMROST WITd 3 CROSS BEAMS (4 MAIN BEAMS)

TYPE 109

FORMAT (6 34 INFLUENCELINES OF BEAMROST WITH 3 CROSS BEAMS (4 MAIN BEAMS)/)
DIMENSION SX1(11),5X2¢11),5%3(11),0(3 4),3X(4,1‘)

READ 1,(SX1(L),SX2(L), \X3(L) ,L=1, i‘) p O KDY gH=1 30 K=1 #)

Do 20 L 1,11

50 19 K:l 4

SXCK, 1)= 3. 25842 5X1(LIxCCL KI+0 4815 SK2(L)I#C(2,KI-0,5123x5X3(L)*C (3,K))%3.5
SX(K 2) (04499723X1(L)I*C(1 K)+0 3319*¢X9(L)*V(7 $KI=0. 81/2*§X3(')*C(3,K))*3 5
SX(K,S}—(O 7071xSE1(LI*C( T K) loO???*\Y°(L)*u(7,K) Qe 7071x5X3LLIxC(3,K) IxD a5
SX(K,4)=(0,8551xSX1{L)*C(1 K) 048519%5X2(L)*C(2,K)=3 797/yxXS(L)*u(3,n))*0 5
SX(K >) (0,985 145X (Lo»2(1 K)+O 431545201 )% C(2,K) -0,6434%SX3(LIxC(3,K) )#D.S
SX(K b) (1e0000xSX1(L)%C( L K)*O 2000%xSX2{(LI%C(2,K)+1.,000£SK3(L)#C(3 K))*Q-
%X(Y TI=€0,9651x5X1(L)%C( 1, Ko V. 4B15x5K2(1L)2C(2, ()+J &4 31*§X3(L)*u(5 LK) )2,
§X(K 8)=(0. 3%)1*\X1(L)*C(1,K) 08519254 2(L)xC(2 &)—¢.099/*»75(L>*F<3 K))*D.
"X(V p =00, 70 71aSX1(L)xC(1 K)—1, SJ)?*§X7(L)1"(?,K) V. D 71xSX3(LI%CT(3 K))*f 5
SX(K, 10) €(044997aSX1(L)#C( K)—Q.3)19*¢X?(’)*C(2,K) 0.8172xS5X3(LI%CT(3,K) IxD45
022584 x5X1(L)=C(1 ,KI-0,4815%SX2(L)%C(2 $KI=2.5123%5K3 (L) =3(3 ‘))*J.

SKK11)=
TYPE 10,
TYPE 11,
TYPE 12, CCSK(K,J),J=1,11),K=1,4)
TYPE 13,

PAUSE

50 TO 99

FORMAT(/ )

FORMAT C17H  SX(K), C12TOBUN) )
FORMAT(11F10.5)

FORMAT(///)

STUP

END(2,2,2)

(haim 79 2) (5fFao B Eowv £~ x > B @)

(Fen

9

1908 D.0417-0.0173 0.2012 92,0833 -0,0345 0.3018 2,125 -0,0513

Q3434 09,0833 ~D.0101 243351 2.4170417 2.0315 Q,4253 D40 D,0732
093851 ~0.0417 0,0315 043434 ~0,0833 =0.,01091 02,3218 =0.135 -2.0515
042012 =0,0833 —0.0345 9.1006 ~0,0417 =0,0173

~De

Qs

682 =03,523 04,373 0,270 04299 2,292 1,225 D.158 3.2585
186 04066 —0,004

si9-3) (EHia oizBEE k) e — x - v HEE)

RS

10207 045 =%,207 1,207 9.5 =04207 1,207 5.5 ~34207 1,207 945 =227
005 ~0¢5 0.5 045 0,5 045 D25 =05 045 =2,5 =2,5 =2,5

~e
—~1.

S =5 =045 —Jed =045 =025 =1.207 0.5 D207 =1.207 9,35 2.207
207 045 04207 1,568 =1,107 =0,793 —0,25 0,151 0,327 94397 2,491 D314

1,229 9.528 0,151
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